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Unit 4: Trigonometry

4.5 Solving Quadratic Trig Equations|

Factor using the substitution method:

Ex.) Solve the following for 0 £ 8 < 360°and 0 < 0 < 21T.
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N-2=0
X=2 N=-)

Co306=2 cosB=-)
Orefyz ernr Oref= IO

U\r\d.cﬁn‘vu:.o\ \9:\‘{)0‘ S - '75‘)

November 25, 2016

) ton O ~Stand t H=0O CL=tanD
oo -Sa +4=0
(a-1)(a-4) =0
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9 coex-1=0

(o +D)a-1) =0
=1
o= | o= -1
Cﬁc_‘\(: / Ca¢e = -
-L - , _L_. = = l
Sin "T SinY T
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2 -1=0 0 o™=\=0
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*
Ww=0
cosX=0

o= |

cosX=|

fx—qo 270 ,0 , 360
'ft 31 ,0, 2T
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9 2 <in=0 - | ==ind

N=sinO

2 ¥ -\1=x
22X =%-1=0
AN 2xF 2+ Ix-1= 0
-\ 20¢(x-1) T (x-v)
(-\)(2x1D)=0O
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